
06.25 Клапан пневматический (детали) 
 

 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

001 3364320170 Клапан пневматический VPR3-A1 
003 3111108280 Шайба пружинная 5 CSN 02 1740.0 MKS 720 
004 3091116800 Болт M5 x 35 ISO 1207 - 5.8 MKS 720 
005 3249100240 Шарик III 10 
006 9907000940 Шайба AH-0540 
007 9907000950 Пружина AH-0539 
009 2731125700 Кольцо уплотнительное 10 x 6 CSN 02 9280.2 
010 9907000970 Конус  
011 3119012260 Кольцо FIBR 22 x 27 CSN 02 9310.8 
012 9907000980 Пробка  
014 9907001000 Распредвал  
016 3111122170 Штифт 3 x 20 A ISO 2338 - St 
019 9907001030 Маховичок  
021 3111108280 Шайба пружинная 5 CSN 02 1740.0 MKS 720 
022 3091116730 Болт M5 x 16 ISO 1207 - 5.8 MKS 720 
023 9907001050 Корпус  
025 3111100590 Гайка M6 - 5 MKS 720 ISO 4032 
026 3091109480 Болт M6 x 12 ISO 4017 - 5.6 MKS 720 
027 3111108290 Шайба пружинная 6 CSN 02 1740.0 

 


	06.25 Клапан пневматический (детали)

